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A name change is similar to a physical change

OVERVIEW

nov 21 resolved the apparent contradiction between his opinion that *3p X 2> and the
mwn of MMy which (seemingly) maintains that °37 . The resolution is that in the
Xn»72 there is (also) awn "W (besides the wXY) and awn MW is equivalent to MW
mwyn, and so the thief acquired the *95 through own »1°w. However, further clarification
1s necessary; if QWi "W is WY MWD then why is there a need for ¥X° in the X072 of
Ny, Our MooIN (as well as the following &7 17"'7 Mdo1N) deals with this issue.

mooIN cautions; a name change -
- 55m9 N9YATI %3P AN YN MPYT WM NYINM 1Y INY

Is not exactly like a physical change. There is a difference between them, for a

awyn 1w alone is 712, as is evident from the previous X7
- NP N9T N7 mnb NIN 2 AYYN "WYY TP997 1230 9NN NI NAVI 2)) 22) (x,no 97 1):‘,751

And it is also evident from the X723 later concerning the case where one stole
and slaughtered the animal and another came and stole it from the thief; the
rule is that the first thief pays 'm "7 and the second thief only pays the 177 to the
first thief; where the X1 asks, ‘is there indeed anyone who maintains that susw

P R mwyn’? It is evident from these two places that Awyn "11°w is 7P even without WX’ -
:*Um W IN WING KYA 53D RY NT9) WA M1V Yax

However, aw: susw alone is not 1292 without either @RS or 7wyn 115 combined
with it.

SUMMARY
owyn MW is AP by itself however awn MW also requires WX (or AwWYn MIW) in
order to be 1Ip.

THINKING IT OVER
Can there be 7wyn M7 without aw; "w?’

! See following X7 71"7 2010 on X,10 for a (seemingly) different interpretation.

% See x,10 where 7137 states P MW,

? The first thief was 7p the item through the 7wyn "W of Amaw and the second thief should pay %93 to the first
thief; not only the 7p.

* moon is referring to a minimal 7wy 1w such as YIXP (see previous 13 77 ML), for a M AWYA WY requires
no additional awi MW to be A11p.

> See n"ma.
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